ANSWERS — VOLUMEZ2: STRESSES, STRAINS, DISPLACEMENTS
Chapter 4, Members Subject to Bending and Extension problem 4.103, page 267

Remarks: See §4.6, pages. 184 till 186 Explanation:
See 84.7.4, pages. 196 till 198
Support point reactions 75 kN (T) left and 165 kN (T) right

Answers: Mqon =150 KNm ()
a. op =+25 N/mm? in the span at F M upportpoint = 90 kNm ()
9 4
b. o, =-15 N/mm? at the right support point W, 1y _18X10° mmT 06 3
€, 300 mm
W=tz L8O MM 68 o
! & 150 mm
M 6
Oh;span = P :+150X1?3 Nm3m = +25 N/mm?
’ W 6x10° mm
M 6
Cspan = — span =_:|.5O><106 ngn _ 125 N/mm2
' W, 12x10° mm
M supportpoint 90%x10° Nmm
Olp;supportpoint = — Suwb o = 52105 M = -15 N/mm?
Maupportpoint . 90x10° Nmm
Ot:supportpoint — 1 SUF;;)\Z =+ 12%10° mm? =+7,5 N/mm?

The sign of the stress follows from the symbol of the bending moment
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